RSN BINE  AMO:00E i R4.9.8 (k9.7
B 564 3month "
HME EYNAUN | BB | ®@% | MOk | mEm | mAk | &8x | ;O =N MR
% $ /ton 77300 | 230 7.686.0 | -315 76450 -6.0 7.6080 | -335 103,300 | -2700
7S $ /ton 22305 | -295 22345 | -27.0 22380 | -25.0 22435 | -255 309,500 | 1125
=5l  $/tn | 21,4500 95.0 21,347.0| 103.0 21,4500| 00 21,4050 | 130.0 54,240 | -102
Ean $ /ton 31710 | -46.0 31280 | -655 3,130.0 | -36.0 3,0985 | -54.0 77,350 | -50
2 $ /ton 18950 | 00 18855 | -15 18910| -6.0 18865 | -4.5 37425| o0
% $/ton | 205250-12250| 208470 -4340 | 205250][-9750 | 20,709.0| -461.0 4605 -5
LMESRHEER _ _ )
COMEX AR eysoh | siBH R7HBOLMEIX. =V 7 - RERVTTE. REARZFEHMVICL =Y 23%I11T,
$3HA%MIZAR FYRE. LMES —7IE | #2EI3ATHLL60.5 KV RDT76225 K, &
Mi/ib 3.4380 {00310 #144.7 (N\YAZRIBRE143.7+10) TOLMERMHREMEIZ1146.0M, NYHIZHEE
&  $/troyoz| 17153 | 149 RAMREA—R2T2.50 hRND343.35€ > b/IbT. NYSHEHEREEIE1138.3M,
% $/toyoz| 18137 | 0342 EIREEIC20MHEO TR,
REONEAE WETTS [ 07 144.12
+IXAR. —IIAE%2TY) :i]=]31 2.85
NY & B IR e 48 i 97 143.70
tRAR. —TAEZRT) WHEL 0.91 HERE HE(E HE NY 25 8518 b & (5
SELMEA—7HREI#&1E | 9.7 7.6225 LME &Y xh 11615 M 7,730.0 143.70
MHE 605 LME  H—7ERGI#&E 11460 M 7.622.5 143.70
COMEX 5 fRé&E 9.7 3.4335 COMEX HAMRtYIAUb 11398 M 3.4380 143.70
MHE -0.0250 COMEX 34 PR#&(E 1,138.3 H 3.4335 143.70




ExEARME AM9:30~10:30%F# R4.9.8
s el ElRiEiE e RA¥y
0 9.7 1160 + 40 1,154.00
:F 9.6 502 - 45 508.80
451% 9.7 855 + 6
£ 9.8 339 + 3 338.30
¥ Z&H 9/8 MoOBEMEHLHUELE.
LME?—4vhES  OUFU B R4.9.8 (Bith9.8) s G
E%‘o R F R 3:00 e 13350 R F R 5:00 it 1%:?;0 R FRRE8:00 500k 1%3:0 Rt TR 10:00 I
Rith 2 K5RE2:00 Rith 2 KR4:00 Rith £ K5RE7:00 Hith £ FE9:00
Cu 7641 33 7678 37 7669 -9 7682 13
Al 2251 8 2262 11 2271 9 2262 -9
Zn 3137 39 3150 13 3160 10 3134 -26
Pb 1913 27 1912 -1 1910 -2 1886 -24
Sn 20810 101 21250 440 21250 0 20855 -395
EtEE ATERZILL tHE RITBR%ILL EtEME RIBRZILE EtEME RITBRZILL
Culsi 5 fiE 1154.61 12.41 1160.00 25.29 1158.69 22.10 1160.58 15.49
IniiHfE 499.37 1.67 501.26 5.73 502.72 8.04 498.93 5.56
X Ye—a1L ~ SAREBHEAAMI1:00 ~ 10AR#BEBEAMI1:00%T B =8 HFfE AHRERORFHESBTTSEE
X 91834 L ~ 10AR#HEHAM1:00 ~ 3AREHEHAAM1:00%T B = OBFR 98 14548 |#iHLL 1.36
(BEXRDOIHAVRLURL) (A AL+IIAR. —(IAE%ZTRY)




